You do not need to print anything out if it is easier not to. You can complete all the work in your workbook or on a piece of paper.
Year 6 Remote Learning 	Thursday 14th January
9:00 – 10:15 Maths. 
If you can, join in via Microsoft Teams. If not, use the following link to watch the White Rose video, before completing the work on the pdf file, saved in the folder.
This lesson we are going to be learning to interpreting numbers up to three decimal places (reasoning lesson).
If you would like to recap yesterday’s video, follow this link - https://vimeo.com/487196408 
 10:15 – 10:30 BREAK
10:30 – 11:15 Reading
Again, if you can, join in via Microsoft Teams. If not, work through the reading comprehension on ‘The Tempest’ saved in the folder. 
11:15 – 12:15 Writing
Again, if you can, join in via Microsoft Teams. If not, use this link to the Oak Academy website and work through this lesson on practising and applying our knowledge of French and Greek etymology. We will be doing this lesson in school and via Teams too.
https://teachers.thenational.academy/lessons/to-practise-and-apply-our-knowledge-of-french-and-greek-etymology-c4u68d 
You can complete any work for this in your workbook or on a piece of paper.

12:15 – 1:15 LUNCH
Spelling – we will be using our Read, Write Inc books for our spelling sessions, which can be collected from school if you haven’t already.
If you are on book 6 - Complete p41 – special focus 8.
If you are book 4, complete the next two pages. (Unfortunately, these children are all at different points so we cannot say a specific page)

SPAG (spelling, punctuation and grammar) – We will be using the CGP Grammar, Punctuation and Spelling books, which can be collected from school if you haven’t already.
Complete Set A, test 4. You have 10 minutes to complete each test. You will find the answers in the back of the book. Once you have completed the test, you can go through and mark this yourself. 
PE -   PE with Joe
https://www.youtube.com/watch?v=4wzoy_J3I_c&list=PLyCLoPd4VxBvQafyve889qVcPxYEjdSTl&index=3 
